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
 

–
 

 

 

 

   



 



 




 


 




 



 

 

       
       
       
       
       
       
       
       
       
      

 
      

 
       
       



 

       
       
       
       


 


 




 


 
 Ana lemma  

- Arthur. n. Strathler. physical Geography. Fourth Edition. International 
edition.1975. p83.

 


 
 








 
 



7

7 5

8

8 5

  














 



 

 






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2. www.wmo.worldweather.org 
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 
 
 

 

   

  

   
   
   
   
   

   
   
   

   
   
   
   

   
   
   
   
   


 



 
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
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

 
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
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




 
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     
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 
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   

 
 

 
 


 

 
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I = ----------- 

 T+10 
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 
  

  
–  
–  
–  

  
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Abstract
The study of local climate is considered as one of the main and 

interesting aspect of climate geography, because it identifies the impact of 
location and spot geography upon the appearance of microclimate. 

The study location comes across a quick and great changes and 
alternation in its climate, because of its obvious variety in topography, led to 
a different climate elements. So the temperature changes because of mere 
(214 m) different heights between two stations, their different temperature 
gets to 4.2 c, that difference in rainfall is clearer, the difference gets to 488.9 
ml per year in the same position and height.  

The impact of topography on wind between the two stations of Penjwen 
and Chwarta as their difference is only 40 m, which is (0.3) m/second. The 
variety of evaporation between the Saladin and Chawta stations gets to 
444.9 ml. 

For the variety of air pressure between the Saladin and Sina stations in 
July which is the hottest month of the year gets to 47.1 millibar, but in 
December is 0.7 milibar. 

The study concluded that is a positive correlation between the going up 
from the sea level in one hand and the humidity and rainfall in the other 
hand, where as there is an counterproductive correlation between the going 
up from the sea level and the temperature. 

 
 
 


